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Yyactku KIT 10kB . 48-15 (cM. nuct 4 wnpp:4710028255-011-3C-M)
1. Ji1 1225,0 | 1400,0 | 100000 | 34,5 | 10000 | 5,00 9,94 | 150,0 | 0,96 | 0,331 | 357,3 | 0,079 | 0,040 | 0,371 ACB 3x150mm?
2. T. K2 | 1225,0 — 100 000 — 10 000 | 5,00 — — 0,96 | 0,331 — — 0,040 | 0,371 —
3. J12 515,0 | 420,0 | 100000 | 34,5 | 10000 | 1,00 6,27 | 150,0 | 0,96 | 0,042 | 150,2 | 0,079 | 0,005 | 0,047 AAB 3x150mMMm?
4. T.K3 | 515,0 — 100 000 — 10000 | 1,00 — — 0,96 | 0,373 | 150,2 — 0,045 | 0,418 —
5. J13 515,0 | 225,0 | 100000 | 34,5 | 10000 | 1,00 3,36 | 150,0 | 0,96 | 0,022 | 150,2 | 0,079 | 0,003 | 0,025 ACB2n 3%x150mMm?
6. T.K4 | 515,0 — 100 000 — 10000 | 1,00 — — 0,96 | 0,395 | 150,2 — 0,048 | 0,443 —
7. J14 175,0 | 225,0 | 100000 | 34,5 | 10000 | 1,00 1,14 | 150,0 | 0,96 | 0,008 51,0 0,079 | 0,001 | 0,009 ACB2n 3%x150Mm?
8. T.K5 | 175,0 — 100 000 — 10000 | 1,00 — — 0,96 | 0,403 51,0 — 0,049 | 0,452 —
9. J15 175,0 180,0 | 100000 | 34,5 | 10000 | 1,00 0,91 | 150,0 | 0,96 | 0,006 51,0 0,079 | 0,001 | 0,007 AAB 3x150MMm?
10. | 1.K6 | 175,0 — 100 000 — 10000 | 1,00 — — 0,96 | 0,409 51,0 — 0,050 | 0,459 —
11. J16 175,0 | 518,0 | 100000 | 34,5 | 10000 | 1,00 2,63 | 120,0 | 0,96 | 0,022 51,0 | 0,1160 | 0,003 | 0,025 A-120
12. T.K7 | 175,0 — 100 000 — 10000 | 1,00 — — 0,96 | 0,431 51,0 — 0,053 0,484 —
13. 7 175,0 | 600,0 | 100000 | 34,5 | 10000 | 1,00 3,04 | 150,0 | 0,96 | 0,020 51,0 0,079 | 0,002 | 0,023 AAB 3x150MMm?
14. | 1.K8 | 175,0 — 100 000 — 10000 | 1,00 — — 0,96 | 0,451 51,0 — 0,055 | 0,506 —
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